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Topic:- General English

Out of the given four sentences, choose the one which is grammatically
correct.

1. The children drew pictures of their families on a white sheet

2. The children have drew pictures of their families in a white sheet

3. The children had drew pictures of their families by a white sheet

4. The children has drew pictures of their families on a white sheet

Correct Answer :-

The children drew pictures of their families on a white sheet

Out of the given four sentences, choose the one which is grammatically
correct.

1. He has been teaching in this school for the past three years

2. He has been teaching for this school since three years

3. He have been teaching in this school from three years

4. He have been teaching in this school for three years

Correct Answer :-

He has been teaching in this school for the past three years

Out of the given four words only one is spelt correctly. Find the word that is
correctly spelt.

1. Pavillione
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2. Paasttime

3. Possession

4. Peice

Correct Answer :-

Possession

Out of the given four words only one is not spelt correctly. Find the word
that is not correctly spelt.

1. Vicious

2. Incredible

3. Horrific

4. Irreseestable

Correct Answer :-

Irreseestable

DIRECTIONS: Fill in the blank with the correct Preposition.

Pour some cream ______ the soup and serve it warm.

1. beyond

2. over

3. among

4. beneath

Correct Answer :-

over

DIRECTIONS: Fill in the blank with the correct Preposition.

The reading of the thermometer reached _______ the red mark.

1. from

2. with

3. below
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4. of

Correct Answer :-

below

DIRECTIONS: Fill in the blank with the correct article.

_______ Ganges is a holy river.

1. An

2. The

3. No article required

4. A

Correct Answer :-

The

DIRECTIONS: Fill in the blank with the correct article.

It is _______ unique watch.

1. No article required

2. the

3. an

4. a

Correct Answer :-

a

DIRECTIONS: Out of the given four options, choose the correct conjunction
to fill in the blank given in the sentence.

She thought she might be late, _____ she arrived on time.

1. but

2. or

3. neither

4. else
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Correct Answer :-

but

DIRECTIONS: Out of the given four options choose one to join the two
sentences given below to make a meaningful sentence.

I almost missed my flight.

There was a long queue in the duty-free shop.

1. Because

2. Although

3. Or

4. Despite

Correct Answer :-

Because

DIRECTIONS: Out of the given options, choose the most appropriate one to
fill in the blank.

I waited all evening in the fond hope that he ______ call.

1. might have

2. ought not to

3. should have

4. might

Correct Answer :-

might

DIRECTIONS: Find the word which can be replaced for the given sentence.

A person who pretends to be what he/she is not.

1. Altruist

2. Hypocrite

3. Atheist

4. Theist
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Correct Answer :-

Hypocrite

DIRECTIONS: Find the word which can be replaced for the given sentence.

One who settles in another country.

1. Immigrant

2. Versatile

3. Teetotaler

4. Cosmopolitan

Correct Answer :-

Immigrant

DIRECTIONS: In the given sentence there might be an error. Find out which
part of the sentence has an error. lf there is no error, mark your answer as (d)
i.e. ‘No error’.

He came back (a)/ from office at midnight (b)/ did he? (c)/ No Error (d)

1. (a)

2. (b)

3. (d)

4. (c)

Correct Answer :-

(c)

DIRECTIONS: In the given sentence there might be an error. Find out which
part of the sentence has an error: lf there is no error, mark your answer as (d)
i.e. ‘No error’.

The richest people (a)/ are not always (b)/ happiest. (c)/ No Error (d)

1. (a)

2. (b)

3. (d)

4. (c)
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Correct Answer :-

(c)

DIRECTIONS: A sentence with an underlined idiomatic expression is given.
What is the meaning of the idiomatic expression part and parcel in the
sentence given below?

Being recognized on the street is part and parcel of being a celebrity.

1. None of the above

2. to be unknown

3. an essential part of something

4. to be receiving gifts and parcels

Correct Answer :-

an essential part of something

DIRECTIONS: A sentence with an underlined idiomatic expression is given.
What is the meaning of the idiomatic expression ‘in the same boat ‘in the
sentence given below?

Jane and Mary are both in the same boat. They have been called for jury duty.

1. None of the above

2. to be opposed to each other

3. to be in the same situation, or having the same problem

4. to be in altogether different directions

Correct Answer :-

to be in the same situation, or having the same problem

DIRECTIONS: A sentence with an underlined word is given below. Find the
Word which is most similar in meaning to the underlined word.

I found him rude and uncooperative.

1. sophisticated

2. mannered

3. polite
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4. impolite

Correct Answer :-

impolite

DIRECTIONS: A sentence with an underlined word is given below. Find the
word which is opposite to the highlighted word from the given options.

Many teenagers are surprisingly ignorant about current politics.

1. indecisive

2. aware

3. negligent

4. forgetful

Correct Answer :-

aware

DIRECTIONS: A sentence with an underlined word is given below. Find the
word which is opposite to the highlighted word from the given options.

There has been a hostile reaction to the government's proposed tax increases.

1. bitter

2. revengeful

3. friendly

4. unfriendly

Correct Answer :-

friendly

Topic:- General Science

Air tube of an insect is called-/ कीटो ंकी वायु नली कहलाती है-

1. Pharynx/ �सनी

2. Gills/ �ोम

3. Spiracle/ �ासर�
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4. Larynx/ कंठ

Correct Answer :-

Spiracle/ �ासर�

Which component of soil gets deficient due to excess supply of water?/ मृदा
का कौनसा घटक जल की अ�िधक आपूित� के कारण �ून होता है

1. Air/ वायु

2. Minerals/ खिनज

3. Manure/ खाद

4. Nutrients/ पोषक

Correct Answer :-

Air/ वायु

The normal temperature of human body is-/ मनु� के शरीर का सामा� ताप होता है-

1. 38°C

2. 98.4°C

3. 35°C

4. 37°C

Correct Answer :-

37°C

Ditches made between the two rows of a crop are called as-/ फसलो ंकी दो कतारो ं
के म� बनायी गयी नािलयाँ कहलाती है-

1. Line/ �ेणी

2. None of the above/ उपरो� म� से कोई नही ं

3. Canal/निलका

4. Furrow/ �ाना

Correct Answer :-

Canal/निलका
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The formula which represents the simple ratio of atoms in a compound is
called-/ सू�, जो िक यौिगक म� परमाणुओ ंका सरल अनुपात �दिश�त करता है, कहलाता है-

1. Rational formula/ अनुपाितक सू�

2. Molecular formula/ अणुसू�

3. Structural formula/ संरचना सू�

4. Empirical formula/ मूलानुपाती सू�

Correct Answer :-

Empirical formula/ मूलानुपाती सू�

Earth always pulls everything towards it due to-/ पृ�ी सभी चीजो ंको हमेशा अपनी
ओर खीचंती है। ऐसा िन� बल के कारण होता है-

1. Mechanical force/ यांि�क बल

2. Electrostatic force/ िवद्यु त बल

3. Gravitational force/ गु��ीय बल

4. Muscular force/ शारी�रक बल

Correct Answer :-

Gravitational force/ गु��ीय बल

Which of the following is a good conductor of electricity?/ िन� म� से कौन िवद्यु त का
अ�ा चालक है?

1. Chalk/ चॉक

2. Steel spoon/ �ील की च�च

3. Wood/ लकड़ी

4. Dry air/शु� हवा

Correct Answer :-

Steel spoon/ �ील की च�च

Which of the following is also called ‘marsh gas’?/ िन� म� से िकसे ‘माश�’ गैस भी कहते
है:
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1. Carbon dioxide/ काब�न डाई ऑ�ाइड

2. Sulphur dioxide/ स�र डाई ऑ�ाइड

3. Methane/ मेथेन

4. Chlorofluoro carbons/ �ोरो�ोरो काब�न

Correct Answer :-

Methane/ मेथेन

Rusting takes place in-/ जंग लगना स�� होता है।

1. Moisture-free air/ वायु मु� नमी

2. None of these/ इनम� से कोई नही ं

3. Moist air/ नम वायु

4. Air-free moisture/ नमी मु� वायु

Correct Answer :-

Moist air/ नम वायु

The rainbow that appears in sky after the rains is caused by the _______ of
light by water droplets present in upper atmosphere./ वषा� के बाद, आसमान म� िदखाई
देने वाला इ� धनुष _______ वायुम�ल म� उप��थत जल की बंूदो ंपर �काश की िकस प�रघटना के कारण
होता है।

1. Refraction of light/ �काश का अपवत�न

2. Dispersion of light/ �काश का िव�ेपण

3. Reflection of light/ �काश का परावत�न

4. Polarization of light/ �काश का �ुवण

Correct Answer :-

Dispersion of light/ �काश का िव�ेपण

The sound waves travel the slowest in–/ �िन तरंग� िन� मा�म म� सबसे धीरे चलती ह�-

1. Moist air/ आ��  हवा म�

2. Liquid water/ �व पानी म�

3. Ice/ बफ�  म�
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4. Dry air/ शु� हवा म�

Correct Answer :-

Dry air/ शु� हवा म�

An electrolyte is-/ एक िवद्यु त अपघटय है-

1. A metal/ एक धातु

2. None of these/ इनम� से कोई नही ं

3. A liquid that conducts electricity/ एक �व जो धारा चालन कर सकता है

4. A light electric cell/ एक �काश िवद्यु त सेल

Correct Answer :-

A liquid that conducts electricity/ एक �व जो धारा चालन कर सकता है

Saliva has the enzyme-/ लार म� ए�जाइम होता है-

1. Trypsin/ िट� ��न

2. Rennin/ रेिनन

3. Ptyalin/ टायिलन

4. Pepsin/ पे��न

Correct Answer :-

Ptyalin/ टायिलन

According to IUCN red list. What is the status of red panda (Ailurus
fulgens)?/ IUCN लाल सूची के अनुसार लाल पा�ा (ए�ुरस फ�े�) की �ा ��थित है?

1. Endangered species/ संकट�� जाित

2. Extinct species/ िवलु� जाित

3. Vulnerable species/ दुब�ल जाित

4. Critically endangered species/गंभीर संकट�� जाित

Correct Answer :-

Endangered species/ संकट�� जाित
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In which of the following processes light is absorbed?/ िन�िल�खत म� से कौन-से
��म म� �काश का अवशोषण होता है।

1. Photosynthesis/ �काश सं�ेषण

2. Sublimation/ उ�वपातन

3. Rusting/ जंग लगना

4. Burning/ जलना

Correct Answer :-

Photosynthesis/ �काश सं�ेषण

Penicillin is an:/ पेिनिसलीन है एक-

1. Vitamin/ िवटािमन

2. Hormone/ हाम�न

3. Antipyretic/ ती��रनाशी

4. Antibiotic/ �ितज़ैिवक

Correct Answer :-

Antibiotic/ �ितज़ैिवक

Density of ice is-/ बफ�  की घन� होता है-

1. Less than water/ जल से कम

2. Cannot be said/ कहा नही ंजा सकता

3. More than water/ जल से अिधक

4. Same as water/ जल के समान

Correct Answer :-

Less than water/ जल से कम

The smallest organelles in a cell are-/ कोिशका म� सबसे छोटा कोिशकांग है-

1. Peroxysomes/ परॉ�ीसोम

2. Ribosomes/ राइबोसोम

3. Lysosomes/ लाइसोसोम
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4. Spherosomes/ �ेरोसोम

Correct Answer :-

Spherosomes/ �ेरोसोम

In an electrolyic cell, the electrode which is connected to the positive
terminal of a battery is called-/ एक िवद्यु त अपघ� सेल म�, वह इले�� ॉड िजसे, बैटरी के
धना�क टिम�नल से संयोिजत िकया जाता है, उसे कहते ह�-

1. None of these/ इनम� से कोई नही ं

2. Anode/ऐनोड

3. Cathode/ कैथोड

4. Antinode/ ए�ीनोड

Correct Answer :-

Anode/ऐनोड

Air moves from a region of ______ pressure to a region of _______
pressure./ वायु ________ दाब �े� से _______ दाब �े� की ओर बहती है।

1. Low, high/ िन�, उ�

2. Low, low/ िन�, िन�

3. High, low/ उ�, िन�

4. High, high/ उ�, उ�

Correct Answer :-

High, low/ उ�, िन�

Topic:- General Knowledge

How many agro-climatic zones are there in Madhya Pradesh?/म��देश म� िकतने
कृिष-जलवायु �े� ह�?

1. 13

2. 11

3. 10
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4. 12

Correct Answer :-

11

In which year was the Burhanpur district created? / बुरहानपुर िजला िकस साल
�थािपत िकया गया था?

1. 2006

2. 2004

3. 2005

4. 2003

Correct Answer :-

2003

In which year was the IT Department of BHEL, Bhopal declared Winner for
Excellence Award in e-Governance initiatives in Madhya Pradesh? / भेल, भोपाल के
आईटी िवभाग को िकस वष� म� म� �देश म� ई-गवन�स पहलो ंम� उ�ृ�ता पुर�ार िवजेता घोिषत िकया गया था?

1. 2012-13

2. 2013-14

3. 2014-15

4. 2015-16

Correct Answer :-

2012-13

In which of the following districts is the maximum number of fairs held?/
िन�िल�खत िजलो ंम� से अिधकतम मेल� कहाँ आयोिजत की जाती है?

1. Hoshangabad / होशंगाबाद

2. Bhopal / भोपाल

3. Ujjain / उ�ैन

4. Ratlam / रतलाम

Correct Answer :-
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Ujjain / उ�ैन

Who is the Captain of the Madhya Pradesh state ODI team?/ म� �देश ओडीआई
टीम के क�ान कौन है?

1. Naman Ojha/ नमन ओझा

2. Shubham Sharma/ शुभम शमा�

3. Aditya Shrivastava/ आिद� �ीवा�व

4. Anand Bais/ आन� बैस

Correct Answer :-

Naman Ojha/ नमन ओझा

Which of the following commissioned a 600 MW thermal power plant at
Jhabua?/ िन�िल�खत म� से िकसने झाबुआ म� 600 मेगावाट ताप िवद्यु त संयं� चालू िकया है?

1. BHEL/ भेल

2. None of these/ इनमे से कोई नही ं

3. ONGC/ ओएनजीसी

4. NTPC/ एनटीपीसी

Correct Answer :-

BHEL/ भेल

Which of the following rivers of Madhya Pradesh is the third longest river of
India that flows entirely within the country?/म� �देश की िन� निदयो ंम� से भारत की
तीसरी सबसे ल�ी नदी कौन- सी है, जो पुरे देश के अ�र बहती है?

1. Betwa / बेतवा

2. Narmada / नम�दा

3. Godavari / गोदावरी

4. Mahi / मािह

Correct Answer :-

Narmada / नम�दा
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Which of the following districts is called the ‘Gateway to Southern India’? /
िन� म� से कौन से िजले को 'दि�ण भारत का �ार' कहा जाता है?

1. None of these / इनमे से कोई नही ं

2. Khandwa / खंडवा

3. Alirajpur / अलीराजपुर

4. Rewa / रीवा

Correct Answer :-

None of these / इनमे से कोई नही ं

Where is the Hoshang Shah’s tomb? / होशांग शाह का मकबरा कहाँ है?

1. Chanderi / चंदेरी

2. Hoshangabad / होशंगाबाद

3. Bhopal / भोपाल

4. Mandu / मांडू

Correct Answer :-

Mandu / मांडू

Which is the famous fabric of Madhya Pradesh, the advent of which can be
traced to Ala-ud-din-Khilji in the year 1305 AD?/ म� �देश का �िस� कपड़ा कौन- सा है,
िजसकी उ�ि� से वष� 1305 ईसवी म� अलाउि�न-�खलजी का पता लगाया जा सकता है?

1. Chanderi/ चंदेरी

2. Chikenkari/ िचकनकारी

3. Kosa/ कोसा

4. Zaridosi/ ज़रदोसी

Correct Answer :-

Chanderi/ चंदेरी

Which musical-instrument is Baba Allauddin Khan associated with? /बाबा
अ�ाउ�ीन खान िकस संगीत वा� यं� से जुड़े ह�?

1. Sitar / िसतार
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2. Esraj / इसराज

3. Sarod / सरोद

4. Tabla / तबला

Correct Answer :-

Sarod / सरोद

Originally how many temples were there at Khajuraho? / मूल �प से खजुराहो म�
िकतने मंिदर थे?

1. 86

2. 84

3. 85

4. 83

Correct Answer :-

85

During the Revolt of AD 1857, till which date was the Fort of Dhar kept in
the possession of the freedom-fighters?/1857 ईसवी के िव�ोह के दौरान, �तं�ता सेनािनयो ं
के क�े म� धार का िकला िकस तारीख तक था?

1. 31st December, 1857 / 31- वां िदस�र, 1857

2. 31st October, 1857 / 31- वां अ�ूबर, 1857

3. 30th September, 1857 / 30-वां िसत�र, 1857

4. 30th November, 1857/ 30- वां नव�र, 1857

Correct Answer :-

31st October, 1857 / 31- वां अ�ूबर, 1857

The BRICS Convention of Tourism was held at Khajuraho in the year:/ ि��
क��शन ऑफ टू�र� िकस वष� खजुराहो म� आयोिजत िकया गया था?

1. 2015

2. 2016

3. 2017
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4. 2014

Correct Answer :-

2016

The Rewa-Panna Plateau is also known as the_______:/ रीवा-प�ा पठार
को______ के नाम से भी जाना जाता है।

1. Vindhyan plateau/ िवं� का पठार

2. Bhander plateau/ भ�र पठार

3. Satpura plateau/ सतपुरा पठार

4. Malwa plateau/ मालवा पठार

Correct Answer :-

Vindhyan plateau/ िवं� का पठार

Right to Information Act was notified on:/ सूचना का अिधकार अिधिनयम को कब
अिधसूिचत िकया गया?

1. None of these/इनमे से कोई नही ं

2. 15th June, 2005/15 जून, 2005

3. 1st November, 2000/1 नवंबर, 2000

4. 26th January, 2010/26 जनवरी, 2010

Correct Answer :-

15th June, 2005/15 जून, 2005

For which of the following is the ‘Vishwamitra Award’ of Madhya Pradesh
given?/ म��देश का 'िव�ािम� पुर�ार' िन�िल�खत म� से कौन- से �े� म� िदया जाता है?

1. Best performance in sports/ खेल म� सव��े� �दश�न

2. Coaches for serving sports/ खेल खेलने के िलए कोच

3. Highest award for Literature / सािह� के िलए सव�� पुर�ार

4. Social work related activities / सामािजक काय� संबंधी गितिविधयों

Correct Answer :-
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Coaches for serving sports/ खेल खेलने के िलए कोच

Madhya Pradesh is the largest producer of _______ in the country/म� �देश
देश म� _____ का सबसे बड़ा उ�ादक है?

1. None of these/इनमे से कोई नही ं

2. Sugarcane/ग�ा

3. Oilseeds/ितलहन

4. Rice/चावल

Correct Answer :-

Oilseeds/ितलहन

Madhya Pradesh’s Heritage Walk of _______ won the Best Heritage Walk
Award at the National Tourism Award in 2016./म��देश की हे�रटेज वॉक ऑफ़
_______ने 2016 म� रा�� ीय पय�टन पुर�ार म� बे� हे�रटेज वॉक का पुर�ार जीता।

1. Khajuraho/खजुराहो

2. Amarkantak/अमरकंटक

3. Bhopal/भोपाल

4. Mandu/मांडू

Correct Answer :-

Bhopal/भोपाल

________ became an important city in medieval times owing to flourishing
trade between Delhi and Gujarat. Which city of present Madhya Pradesh is
being talked about here?/ िद�ी और गुजरात के बीच समृ� �ापार के कारण म�युगीन समय म�
________ एक मह�पूण� शहर बन गया था। वत�मान म� �देश के िकस शहर के बारे म� बात की जा रही है?

1. Sironj/ िसरोजं

2. Katni/ कटनी

3. Hoshangabad/ होशंगाबाद

4. Bhopal/ भोपाल

Correct Answer :-

Sironj/ िसरोजं
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Topic:- General Hindi

माखनलाल चतुव�दी की कृित है

1. अपलक

2. िहमतरंिगणी

3. �ोित कलश

4. कंुकुम

Correct Answer :-

िहमतरंिगणी

‘घर पर आये मेहमानो ंके िलए ज�ी से भोजन-पानी का �बंध करो’− वा� है :

1. आ�ासूचक वा�

2. इ�ासूचक वा�

3. िवधानवाचक वा�

4. संकेताथ�क वा�

Correct Answer :-

आ�ासूचक वा�

‘गायबैल’ पद म� समास है :

1. अ�यीभाव

2. ि�गु

3. कम�धारय

4. �ं�

Correct Answer :-

�ं�

‘ह�र’ श� का पया�यवाची है :

सप�
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1. सप�

2. िव�ु

3. मोर

4. उ� सभी

Correct Answer :-

उ� सभी

‘गड़गड़ाहट’ श� म� ��य है :

1. अड़ाह्ट

2. हट

3. गड़ाह्ट

4. आहट

Correct Answer :-

आहट

‘नाक’ श� का अथ� नही ंहै :

1. �ग�

2. नगर का �वेश �ार

3. �ित�ा

4. मगर जैसा एक जलजंतु

Correct Answer :-

नगर का �वेश �ार

‘िकसान’ श� है :

1. संकर

2. त�म

3. त�व

4. देशज
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Correct Answer :-

त�व

‘कहाँ-कहाँ जाऊँ अकेला आदमी �ँ’− वा� है :

1. �थानबोधक संरचना

2. िवन�तासूचक संरचना

3. िविधसूचक संरचना

4. कारण-काय� बोधक संरचना

Correct Answer :-

�थानबोधक संरचना

‘हाथ उठा बैठना’ मुहावरे का आशय है :

1. िकसी को मार बैठना

2. िकसी काम म� सहायता देना बंद कर देना

3. उ� सभी

4. असहयोग कर देना

Correct Answer :-

उ� सभी

‘रामायण’ म� संिध है :

1. अयािद �र संिध

2. यण �र संिध

3. �ंजन संिध

4. िवसग� संिध

Correct Answer :-

�ंजन संिध

‘�िणक’ का िवलोम श� है:
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1. काल

2. शा�त

3. िवशाल

4. दीघ�

Correct Answer :-

शा�त

‘भूषण भनत नाद िबहद नगारन के, नदी-नद मद गैबरन के रलत है’− पं�� म� है :

1. अ�ो�� अलंकार

2. सहो�� अलंकार

3. �ेष अलंकार

4. अितशयो�� अलंकार

Correct Answer :-

अितशयो�� अलंकार

‘Stenotypist’ का िहंदी पा�रभािषक श� है :

1. आशुिलिपक

2. आशुअनुवादक

3. आशुलेखक

4. आशुटंकक

Correct Answer :-

आशुटंकक

‘टीकमगढ़’ िजले म� बोली जाने वाली �मुख बोली है :

1. िनमाड़ी

2. बंुदेली

3. बघेली

4. मालवी
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Correct Answer :-

बंुदेली

म��देश से �कािशत सािह��क पि�का है :

1. मीिडया

2. राजभाषा भारती

3. आसपास

4. �ं� या�ा

Correct Answer :-

आसपास

भोजपुरी बोली आती है :

1. पूव� िहंदी के अंतग�त

2. िबहारी िहंदी के अंतग�त

3. राज�थानी िहंदी के अंतग�त

4. पि�मी िहंदी के अंतग�त

Correct Answer :-

िबहारी िहंदी के अंतग�त

िन�िल�खत म� िवलोम श�-यु� नही ंहै :

1. कथा-वाता�

2. धृ�-िवन�

3. वि�-सिलल

4. आस�-िवर�

Correct Answer :-

कथा-वाता�

िन�िल�खत म� शु� वा� है :
तमाम गाँव भर म� यह ख़बर फ़ैल गयी।
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1. तमाम गाँव भर म� यह ख़बर फ़ैल गयी।

2. यह दुघ�टना-संभािवत �े� है।

3. ��ा ने काम नही ंकरा।

4. यह �ीितभोज का आमं�ण-प� है।

Correct Answer :-

यह दुघ�टना-संभािवत �े� है।

िन�िल�खत म� शु� श� है :

1. �ुत

2. तेलांजिल

3. �ाज

4. जाि�त

Correct Answer :-

�ुत

िन�िल�खत म� समो��रत िभ�ाथ�क श�-यु� नही ंहै :

1. धीरे-धीरे

2. िनज�र-िनझ�र

3. िनयित-नीयत

4. प�ष-पु�ष

Correct Answer :-

धीरे-धीरे

Topic:- General Maths

DIRECTIONS: Find the wrong term in the given number series:/िनद�श: दी �ई
सं�ा �ेणी म� गलत पद �ात कर�।

7, 11, 18, 35, 67, 131, 259

1. 35
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2. 131

3. 11

4. 18

Correct Answer :-

131

Find the area of a rhombus one of whose diagonals measures 8 cm and the
other 10 cm./ उस समचतुभु�ज का �े�फल �ात कीिजए िजसके िवकण� की माप 8 सेमी तथा 10 सेमी
है।

1. 80 cm2/80 सेमी2

2. 48 cm2/48 सेमी2

3. 40 cm2/40 सेमी2

4. 36 cm2/36 सेमी2

Correct Answer :-

40 cm2/40 सेमी2

The length of a rectangle is increased by 50%. By what % should the width
be decreased to maintain the same area?/ एक आयात की ल�ाई को 50% बढ़ा िदया जाता
है, तो समान �े�फल के िलए इसकी चौड़ाई को िकतने �ितशत कम करना चािहए?

1. 25%

2. %

3. %

4. %

Correct Answer :-

%

The roots of the quadratic equation p2+5p+6=0 are:/ि�घात समीकरण p2+5p+6=0 के
मूल है:

1. 3, 2
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2. -3, 2

3. -3, -2

4. 3, -2

Correct Answer :-

-3, -2

If the square of the sum of two numbers is equal to 4 times of their product,
then the ratio of these numbers is:/यिद दो सं� याओ ंके योग का वग�, उनके गुणनफल का 4 गुना
हो तो, उन सं� याओ ंका अनुपात िकतना होगा?

1. 1:3

2. 1:2

3. 5:1

4. 1:1

Correct Answer :-

1:1

The average of 12 numbers is 9. If each number is multiplied by 2 and added
to 3, the average of the new set of numbers is:/12 सं� याओ ंका औसत 9 है। यिद �� येक
सं� या को 2 से गुणा िकया जाए और उसम� 3 जोड़ा जाए, तो सं� याओ ंके नए समु�य का औसत � या होगा?

1. 9

2. 21

3. 27

4. 18

Correct Answer :-

21

DIRECTIONS: What should come in place of the question mark (?) in the
following series?/िनद�श: िन�िल�खत �ेणी म� ��वाचक िच� (?) के �थान पर �ा आना चािहए?

1, 9, 25, ?, 81

1. 64

2. 36



8)  

9)  

10)  

3. 49

4. 28

Correct Answer :-

49

A man walking at 3 km/hour crosses a square field diagonally in 2 minutes.
The area of the field (in square meter) is:/ 3 िकमी/घंटा की गित से चलने वाला एक � य��
िकसी वगा�कार मैदान को िवकण�त: 2 िमनट म� पार कर लेता है। मैदान का �े�फल (वग� मीटर म�) िकतना है?

1. 6000

2. 5000

3. 2500

4. 3000

Correct Answer :-

5000

If 1 is added to the numerator of a fraction, the fraction becomes 1. If 1 is

added to denominator, the fraction becomes  . The fraction is:/ यिद 1 को एक िभ�

के अंश म� जोड़ा जाये तो िभ� 1 हो जाता है तथा यिद 1 को िभ� के हर म� जोड़ा जाये तो िभ�  हो जाता है| मूल
िभ� है:

1. 

2. 

3. 

4. 

Correct Answer :-
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Four bells ring at intervals of 4, 6, 8 and 14 seconds. They start ringing
simultaneously at 12.00 o’clock. After what time will they again ring
together?/ चार घंिटयो ंके बजने का अंतराल 4, 6, 8 और 14 सेके� है। वे सभी 12.00 बजे एक साथ
बजना शु� होते है, तो िकतने समय बाद वे सभी दोबारा एक साथ बजेगी?

1. 3 minutes 44 second/3 िमनट 44 सेके�

2. 3 minutes 20 second/3 िमनट 20 सेके�

3. 3 minutes/3 िमनट

4. 2 minutes 48 second/2 िमनट 48 सेके�

Correct Answer :-

2 minutes 48 second/2 िमनट 48 सेके�

The ratio of the father’s ages to the son’s age is 4:1 and the product of their
ages is 196. What will be the ratio of their ages after 5 years?/िपता एवं पु� की आयु
का अनुपात 4:1 है एवं उनके आयु का गुणनफल 196 है। 5 वष� बाद, उनके आयु का अनुपात �ा होगा?

1. 12:4

2. 12:3

3. 11:3

4. 11:4

Correct Answer :-

11:4

Two pipes A and B can fill a tank with water in 30 minutes and 45 minutes
respectively. The water pipe C can empty the tank in 36 minutes. First A and B
are opened. After 12 minutes C is opened. Total time (in minutes) in which the
tank will be filled up is:/दो पाइप A और B एक ट�क को �मश: 30 िमनट और 45 िमनट म� भर
सकते है। पाइप C उस ट�क को 36 िमनट म� खाली कर सकता है। पहले A और B को खोला जाता है िफर 12
िमनट बाद C को खोला जाता है। ट�क कुल िकतने समय (िमनटो ंम�) म� भरेगा?

1. 30

2. 36

3. 18

4. 24

Correct Answer :-

24
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Simple interest on a certain sum for 6 years is  of the sum. The rate of

interest is:/िकसी रािश पर 6 वष� के िलए साधारण � याज मूलधन का  है। � याज की दर है:

1. 6%

2. 8%

3. 6 %

4. 8 %

Correct Answer :-

6%

What should come in place of the question mark (?) in the following
question?/ िन� निल�खत �� न म� �� नवाचक िच� ह (?) के � थान पर � या आना चािहए?

1701 + 4011 – 3624 – 1113 =?

1. 865

2. 975

3. 965

4. 875

Correct Answer :-

975

The speed of a boat in still water is 6 kmph and the speed of the stream is
1.5 kmph. A man rows to a place at a distance of 22.5 km and comes back to
the starting point. The total time taken by him is:/एक नाव की ��थर जल म� गित 6 िकमी
�ित घंटा है और धारा की गित 1.5 िकमी �ित घंटा है। एक � य�� 22.5 िकमी की दूरी पर एक � थान पर नौका
को चला कर ले आता है और आरंिभक िबंदु पर वापस आता है। उसके �ारा िलया गया कुल समय है:

1. 10 hours/10 घंटे

2. 4 hours /4 घंटे

3. 6 hours /6 घंटे

4. 8 hours /8 घंटे
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Correct Answer :-

8 hours /8 घंटे

A man buys two horses for Rs.1350. He sells one as to loss 6% and the
other so as to gain 7.5%. On the whole he neither gains nor loses. What does
each horse cost (in Rs.)?/ एक ��� दो घोड़े 1350 �. म� खरीदता है। वह एक को 6% की हािन
पर और दूसरे को 7.5% के लाभ पर बेचता है। पूरे पर न तो उसे लाभ होता है न हािन। तो ��ेक घोड़े का �य
मू� (�. म�) होगा?

1. 650, 700

2. 600, 750

3. 500, 850

4. 610, 740

Correct Answer :-

600, 750

If A, B and C can complete a work in 6 days together. If A can work twice
faster than B and thrice faster than C, then the number of days in which C
alone can complete the work is:/ A, B और C एक साथ िकसी काय� को 6 िदनो ंम� पूरा कर सकते
है। यिद A, B से दुगुनी तेजी से और C से ितगुनी तेजी से काय� कर सकता है, तो C अकेले उस काय� को िकतने
िदनो ंम� पूरा कर सकता है?

1. 44 days/44 िदन

2. 11 days/11 िदन

3. 33 days/33 िदन

4. 22 days/22 िदन

Correct Answer :-

33 days/33 िदन

If M% of x is y and N% of y is x then:/ यिद x का M% y है और y का N% x है, तब-

1.  = 100

2.  = 100

3. MN = 10000
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4. M + N = 100

Correct Answer :-

MN = 10000

Find the smallest of the following fractions./िन�िल�खत िभ�ो ंम� से सबसे छोटी िभ� न
�ात कर�|

1. 

2. 

3. 

4. 

Correct Answer :-

Find the largest among the following fraction./ िन�िल�खत िभ�ो ंम� से सबसे बड़ी िभ� न
�ात कर�|

1. 

2. 

3. 

4. 

Correct Answer :-


